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= 59 ZEQIE
1 JACK'S(OF3=CH) 9,144
2 PRIX (52 AbA &) 8,280
3| WEIZH(Dor7AE]) 6,993
4 CIEZRIA (SR 6,942
5 EA(ZL)) 6,129
6 CIEZEA(RNSS) 6,018
7 AR 5,607
8 JACK'S(AHE) 5,304
9| CtEAW(AHATIOIE) 5,103
10| 8OBEERRA(LIFTZEH) 5,004
1 AHME) 2 HH(F7], ¢H, Z¥)
=4 &9 Z2E [| =4 &% EEOIE
1| WEZF(OoretAzl) 6,993 1 JACK'S(O}Z=LH) 9,144
2 CEZ2IA(SLHH) 6,942 2 CIEZRIA(RHSE) 6,018
3 BA(BLH) 6,129 3 JACK'S(AHE) 5,304
4| CHEAWH(AATFIO|E) 5,103 4| 8OBEERRA(IIFZEH) 5,004
5 CHEIZ2IA(O|Ef & A) 2,922 5 THS}HER(QFAL 4,728
6 CIEZ2IA(ZE ) 2,913 6 S-WON(PH) 3,549
7 UWEHEH(SHYA) 2,337 7 o R a2 s R =), 3,030
8 HFEHHH Y@ S =) 1,854 8 Mo oD (5 Q) 2,436
9 TIC(Ad Al 0fCH) 1,851 9 HAMNZ =(OIM ) 2,247
10 2ZEH@E) 1,752 10 2sEIASSEH(EL 2,217
11 Red in(EH4h 1,686 11 8l 2| H| 0 SF2 A (=) 2,004
12 FEEH| A (Z3) 1,623 12 UEL(EZH) 1,812
13 AE(FSH) 1,443 13 H| O] 7HH| = (QFAH 1,578
14| oD% DBEER&POTATO 1,398 14 80BEERRA(TI X &}7H) 1,536
15 EHHZR 1,302 15| A 0|X| Ao|(QHE) 1,521
16 MIFE=2) 1,170 16 WAL (S ETH) 1,518
17 ElE 2t X|(ZLH) 1,110 17 J.bro(A ') 1,464
18 HE|RE () 1,056 18 A2 1,458
19 UHIE 2 A (H3|O)) 1,026 19 Bean Cha(TL2|) 1,194
19]  SAOH E8AMEH=E) 1,026 20 ot BH(==#) 1,110
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=9 =3 ZOIE =2 =9 ZOIE
1 A-PUB(H QLS H) 4,149 1 PRIX(5AFA{H) 8,280
2 QIS LI OFEFE} (4 3,045 2 272 (R4 5,607
3 HI|AEZIO| A (W H) 2,406 3 =HalAZsl) 2,502
4 2|7 |HH 2 AH 1,938 4 MONSTER([C|TLSAME) 2,274
5 HIE(H ) 1,653 5 22 X|CoCo(HA|) 1,953
6 S&S(4AH 1,632 6 HFAZIH|Of (Z A T) 1,815
7 TLC(Z4h 1,509 7 ol 747 m| (2 O)) 1,797
8 Shot(X| ) 1,422 8 EEETEI 1,791
9 UMB(ZAH 1,371 9 7{ 8l (x+2)) 1,734
10 OH S}EH(QI A 1,044 10 J-bucks(&4h 1,671
11 S3 (M) 936 10 STARS 501(CH) 1,671
12 BURN(F CH &) 903 12 DONNA(CH) 1,635
13 OFZ}O|(C M EAH 825 13 C|H|M9(E A 1,632
14 ZH 2 A (R H) 771 14 JAZZ BAR(Z{H|) 1,494
15 SHORZ(CH ) 735 15 = TH[0 (B4 1,470
16 CHE O = (T F) 708 16 FEH[O{I| O Z (£ 4) 1,215
17 O|X}7}OF EHETH ) 693 17 QH|Of(B AR 1) 1,191
18 EENEES) 687 18 O Bar(AHH| 13) 1,173
19 OFEI(CHR) 627 18 OH Z= 2RI =) 1,173
20 K100(X|3) 540 20 700H| 0f (30| Xl ) 1,083




